Dfdooooooooo/oooogooo/onooonooooog
ooy

godn obooboboboboo/ooooooo/km
gooobobobboooooon

ERERERN goooboobboodd
g 660.00/0
godn goooboob:.ogobooo

goobobboog:upsOonboon
goooboob:.ogobooo

0000 000000000000000000000
086801 0
0000 13666351253 13666351253
oot

ooodoobooobooo/oooboobo/ooobboobboooboobboooboUbobDOon
O/o00000bo0ob/o0bbboboobooooooobobobobUobobDOooDuooOooooso-2
ookwo O oOoodoooooobobobbtbooooooobbobbboooooobbobbbooo
gobbobbbuggogbobbobbbougooobobobboooooobob obbobobbogg
gobobbbooooooobobobb,0bb2okw--2000kwWO OO0 ODO0000ooobooboog
gobbobbobudggogobbbbbougoooboobobobbuouoooobobobboag
gobbooboobbooooooobbobbodoogoobboobbboooooobbbbboooon
Oo-0,00bdbdboboobooooooboboobobobobo,oo/boboboobob oo g:
30KWO 50KWO 75KWDO 90KWO 120KWO 200KWDO 250KW0O 300KWU 400KWDO 500KW[

600KWL 800KWLI 1100KWL 1600KWL 2000KW; 0 DO 0o oooougogag,0udd
gobob,oooobobooboboodooooubboobbooooooobbbbboooooob,;bo
bbb bbdgogguobbob.ogobbobboooogobobobbooooo,bood
goboobobobooooooobobbbodoo  obbobbooooooobobobbooooooo
gobbobbboudoodgo,buoooobbobbbdoooooubbobouoooooboo
gobbooboobbooooooobbobbodoogoobboobbboooooobbbbboooon
gobbobbbudoogobbobbbudgoggoboobbudoooobboobobouoooad
gobbooboobbooooooobbobbodoogoobboobbboooooobbbbboooon
gobbobbbudoogobbobbbudgoggoboobbudoooobboobobouoooad
Oo0ooboboobooboboooboobobooolbooboooboowchobboobooobo
gobooooood

000sohd bbb boobooboboob0oobDbooboooDboubboooo
gpbbbboougoggoboobboug4uuogounoboobbuooogsggogoooboo
goboobobbbododoooobboobbdooooobobboobobboooooonbboobobog
gobbobbbudoogobbobbbudgoggoboobbudoooobboobobouoooad



60 0000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000
0oooO
00000000000000000000000000000000000000000000 O
000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000
00000000000000000000000000000000000O0000000000
00000000000000000000000000000000000000
0000000000000000000000000000000000

kwO OO0 O0O000=70(L/H)45kw0 00000 00 O=110 (L/H)

50kwD 0 000000 0=130(L/H)75kw0 0 00 00 00 O =190 (L/H)

100kwd 0 0000000 =260 (L/H) 150kwd 0 0 00 00 00 =390 (L/H)

200kw0 0 0000000 =500 (L/H)250kwd 0 0 00 00 0O O =650 (L/H)

300kw0 0000000 0=780 (L/H)350kwld 0 0000000 =910 (L/H)

400kwD 0 00 00 00O O=1050 (L/H) 450kw0 O 0 0 0 O 0 O O =118.000 (L/H)

500kw 0 00 0000 0=131.200 (L/H) 550kwd 000000 00O =137.500 (L/H)

600kw 0 0 O 00 00O 0=150.000 (L/H) 720kwd 0000 00O OO =180.000 (L/H)

800kw 0 0 0 00 00O O =200000 (L/H) 880kwd 000000 OO =220.000 (L/H)

1000kwd 0 0 00 00 00 =250.000 (L/H) 1200kwD 0 00 00 OO O =300.000 (L/H)

1340kwd 0 0 00 00 00 =335.000 (L/H) 1600kwl 0 00 00 OO O =400.000 (L/H)

1800kw 0 0 0 0 O O O O =450.000 (L/H)


http://www.tcpdf.org

